
B

23456 1

B

11 78910 6

B

15 1314 1112

+12.900

+11.880

+11.700

6 5 4 3 2 1

+12.900

+11.880

+11.700

6 5 4 3 12

+12.900

+11.880

+11.700

11 10 9 8 7 6

+12.900

+11.880

+11.700

11 10 9 8 7 6

+12.900

+11.880

+11.700

15 14 13 12 11

+12.900

+11.880

+11.700

15 14 13 12 11

+12.900

+11.880

+11.700

B

B

+12.900

+11.880

+11.700

+12.900

+11.880

+11.700

B

+12.900

+11.880

+11.700

B

B

8

B

B

4

B

B

2

8

B

- MEET TOLERANCES ACCORDING TO THE ANNEX - "RAIL TOLERANCES GH CRANES "

TOLERATION CRANE:

NOTES:

- ALL DIMENSIONS HAVE TO BE VERIFIED BEFORE REALIZATION!

- DETAILS OF STEEL CONSTRUCTIONS SHOULD BE 

IMPROVED DUE TO THE CUSTOMS OF THE SUPPLIER.

- IT IS NECESSARY TO COORDINATE THIS DRAWING IN 

CONJUNCTION WITH OTHER DRAWINGS OF ARCHITECTURAL 

DRAWINGS AND DRAWINGS  OF OTHER PROFESSIONS, WHERE 

ARE SPECIFIED (AMONG OTHERS) OTHER PARTS OF COMPONENTS.

MATERIAL:

STEEL  S355, S235

SCREW AND BOLTS  8.8

- STEEL CONSTRUCTION PROVIDED WITH A PROTECTIVE PAINT SYSTEM 

AGAINST CORROSION 

- INTERNAL STEEL STRUCTURES - PAINT FOR INTERIOR_CORROSIVE 

ENVIRONMENT C2 ,acc. to STN EN ISO 12944-2

- EXTERNAL STEEL STRUCTURES - HOT - DIP GALVANIZING OR PAINT 

FOR EXTERIOR_CORROSIVE ENVIRONMENT C4,acc. to STN EN ISO 12944-2

- DURABILITY OF PAINTING SYSTEM - HIGH (H)  ,acc. to STN EN ISO 12944

- COLOR OF SURFACE TREATMENT / RAL/  WILL DETERMINE INVESTOR

- STEEL CONSTRUCTIONS ARE CLASSIFIED IN THE PRODUCTION 

CATEGORY EXC2: EN ISO 3834-3 (STANDARD REQUIREMENTS OF QUALITY).

STEEL CONSTRUCTIONS OF CRANEWAY ARE CLASSIFIED IN THE PRODUCTION 

CATEGORY EXC3: EN ISO 3834-3.

- GROUTING IS PART OF SUPPLIER STEEL STRUCTURES  MIN.C35/45

- IN CONSTRUCTION WHICH WILL BUILD MUST USE SERRATED LOCK WASHERS.

   IN ANY CONTACT MUST BE AT LEAST ONE PAIR SERRATED LOCK WASHERS

MAKING OF STN EN 1090-02

WELDING SEAMS MADE ACCORDING TO STN EN ISO 13920 TR. "C

THE WELD SURFACE ACCORDING TO STN EN ISO 9692

UNMARKED WELDS - APPLY SIZE WELD  a=6mm

FIELD WELDS ENSURE PAINTING BY SPECIFICATION

PHA3IN PHASE 1 DON´T INSTALL ASSEMLYS -

PLACES OF THE REBARS:

PHA1IN PHASE 3 REMOVE ASSEMLYS -

PHASE 3 (BETWEN AXIS B-C) (SO1CI_,SO1CF_)

PHASE 1 (BETWEN AXIS A-B) (SO1CG_,SO1CD_)

DESCRIPTION:

N
O

T
E

S

MATERIAL:

PAINT:

WELDS:

(acc. to EN 10025:2004): S235, S355 

CLASS OF FABRICATION ACC. TO EN 1090-2"

WELDS TO BE MADE ACC TO. EN ISO 3834-2, ADDITIONAL WELDING MATERIAL"CEWELD" SITE WELDS TO BE PAINTED

ALL UNMARKED WELDS TO BE HEIGHT  a=0,7 x t (SMALLER THICKNESS OF WELDED MATERIALS) 

Basic paint: - blasting to a level of purity Sa 2,5

- Anticorrosion protecting coating acc. to EN ISO 12944

Top paint: - The shade will be determined by the investor

GEOMETRIC TOLERANCESG ACC. TO EN  ISO 13920

EXC3

MIN. WELD:

plate thickness
min. weld height

up to 5mm

5-8mm

9-14mm

over 14mm

3mm

4mm

5mm

6mm

Client

Scale

Rev.

Designer

Drawn by

Date

Project

Building

Investor

Format

Contract No.

Drawing No.

TEL: +421 32 6513700

MOB: +421 911509411

WEB: www.hescon.sk

EMAIL: hescon@hescon.sk

GESTAMP

1:10 1:30 1:50

HESCON TEAM

Ing.J.Figura

08.09.2017

GESTAMP Strategic park Nitra

2017_002_40-50

ERD_118

A0

Drawing name

SO_01 CRANEWAYS  - AXIS B

INŽINIERSKA

KANCELÁRIA

HESCON

ARCHITEKTONICKO 

Nám. sv. Anny 7269/20C, 911 01 TRENČÍN, SR

AXIS 1-6

1:50

B B

A A

SO1CI15

SO1CI14

SO1CG35

SO1CG91

DETAIL A

SO1CI15

SO1CI11 SO1CI14 SO1CI16

SO1CI11

SO1CG80

SO1CI14

SO1CI16

SO1CI11

SO1CB17

SO1CI19
SO1CI11

SO1CI16

SO1CI14
SO1CI11

SO1CI16

SO1CI14

SO1CI11
SO1CI14

SO1CI16

SO1CI11

SO1CI14

SO1CI15

SO1CI16

SO1CI11

SO1CB17SO1CI6

SO1CI3
SO1CI3 SO1CI6

SO1CI4

SO1CI6

SO1CI4

SO1CI3

SO1CI3

SO1CI4

SO1CI25

SO1CG96

SO1CG93

SO1CG98

SO1CI23

SO1CG76

SO1CB17

SO1CI11 SO1CI14

SO1CI21

SO1CI15

SO1CI14

SO1CI16

SO1CI11

SO1CI16

SO1CI14SO1CI11

SO1CI16

SO1CI14SO1CI11

SO1CB17

SO1CB17

SO1CI6

SO1CI4

SO1CI6

SO1CI5

SO1CI4

SO1CI3
SO1CI6

SO1CI6
SO1CI3

SO1CI5
SO1CI25

SO1CI3
SO1CI5SO1CI4

SO1CF_17

10 SO1CI4

SO1CI15

SO1CI5

SO1CI3

10
SO1CI19

SO1CI3

SO1CI27

SO1CI15

SO1CF_10

SO1CI15

SO1CG88

SO1CG32

SO1CG88

SO1CG3210
SO1CG69

SO1CB17

SO1CB17

SO1CG89

SO1CG89
SO1CG88

SO1CG30

SO1CG89

SO1CG32
SO1CG30

SO1CD17

SO1CG74

SO1CG91

SO1CG35

SO1CG89

SO1CG30
SO1CG32

SO1CG89

SO1CG30

SO1CG88

10 SO1CG80

SO1CG59

SO1CG68

SO1CG90 SO1CG91

SO1CG65

SO1CG35

SO1CG90

SO1CG35
SO1CG36

SO1CG91
SO1CG90

SO1CG36

SO1CG91

SO1CD14

SO1CG90

SO1CG36
SO1CG35

SO1CI6

SO1CI5

SO1CF_17

10
SO1CI5

SO1CI3

SO1CI4

SO1CI5

SO1CI5

10
SO1CI19

SO1CI27

SO1CI18
SO1CI15SO1CI15

SO1CI15

SO1CF_8

10
SO1CI15

SO1CF_13

SO1CG91

SO1CG35

SO1CG32

10

SO1CG88

SO1CG89

SO1CG69

SO1CG32

SO1CG80

SO1CB17

SO1CG64

SO1CG89

SO1CG88

SO1CG30

SO1CG32

SO1CG89

SO1CG30

SO1CD17

SO1CG89

SO1CG30

SO1CG88
SO1CG89

SO1CG32

SO1CG88

SO1CG30

10
SO1CB17

SO1CG80

SO1CG59

SO1CG68

SO1CG90 SO1CG90

SO1CG38

SO1CG91

SO1CG35

SO1CG90

SO1CG91

SO1CG35

SO1CG36SO1CG90

SO1CG36

SO1CD16

SO1CG85

SO1CG36

SO1CG91

SO1CG35

SO1CG36

SO1CG90

SO1CG91

SO1CG35

10

SO1CG80
SO1CG90

SO1CB17

SO1CG59

SO1CG35

SO1CG90

SO1CG91 SO1CG36

SO1CG90

SO1CG36

SO1CD5

SO1CG86

SO1CB16

SO1CI16
SO1CI16

SO1CI14

SO1CI11
SO1CI11

10
SO1CJ2

SO1CI31

SO1CI15

10
SO1CJ2

SO1CG80

SO1CB15

SO1CG60

SO1CG91

SO1CG90

SO1CG36

SO1CG35

SO1CG36

SO1CG90

D D

C C

SO1CG91

SO1CG35

SO1CI14

SO1CI15

AXIS 6-11

1:50

DETAIL B

SO1CI14SO1CI11SO1CI14

SO1CI16SO1CI15

SO1CI11SO1CI14

SO1CI16

SO1CI11

SO1CB17

SO1CI11

SO1CB17

SO1CI19

SO1CI11SO1CI14

SO1CI16

SO1CI11SO1CI14

SO1CI16

SO1CI11

SO1CI16

SO1CI28

SO1CI14

SO1CI11

SO1CI15

SO1CI14

SO1CG97

SO1CG77

SO1CB28

SO1CI3

SO1CI6
SO1CI4

SO1CI3

SO1CI4
SO1CI5

SO1CI6
SO1CI3

SO1CI4

SO1CI6SO1CI3
SO1CI6

SO1CI4

SO1CI5

SO1CI3

SO1CB17 SO1CI25SO1CI11

SO1CI14

SO1CI16

SO1CG91

SO1CG35

SO1CI11

SO1CI15SO1CI16

SO1CI14

SO1CI11
SO1CI14

SO1CI16

SO1CI11

SO1CI14

SO1CI16

SO1CI15

SO1CI11

SO1CB17 SO1CI19
SO1CI16

SO1CI14
SO1CI11

SO1CI15SO1CI16

SO1CI15

10

SO1CI19

SO1CI11

SO1CI18

SO1CF_8

SO1CI15 10 SO1CI15

SO1CF_8

SO1CG91

SO1CG3510
SO1CG90

SO1CG80

SO1CG59

SO1CB17

SO1CG90

SO1CG36

SO1CG90

SO1CG35

SO1CG91

SO1CG90

SO1CG35

SO1CG36

SO1CG85
SO1CD16

SO1CG91

SO1CG36
SO1CG35

SO1CG90

SO1CG36

SO1CG91

SO1CG91

10
SO1CG90

SO1CG80

SO1CB17

SO1CG80

SO1CG38 SO1CG35

SO1CG59

SO1CG90

SO1CG91

SO1CG36

SO1CG35

SO1CG90

SO1CG36

SO1CG85

SO1CI15 10
SO1CI18

SO1CI5

SO1CF_4

SO1CI5

10
SO1CI20

SO1CI27

SO1CI16

SO1CF_2

10

SO1CI18
SO1CI15

SO1CI15

SO1CG89

SO1CG30

SO1CG90

SO1CG36

SO1CG38

SO1CG91SO1CG90

SO1CG36

SO1CD16

SO1CG35

10
SO1CG88

SO1CG32

SO1CG89

SO1CB17

SO1CG80

SO1CG69

SO1CG88

SO1CG32

SO1CG89

SO1CG30

SO1CD18

SO1CG88

SO1CG89

SO1CG32
SO1CG30

SO1CG88SO1CG89

SO1CG30

SO1CG32

SO1CG35

SO1CG91

SO1CG98

SO1CG66

10
SO1CG94

SO1CG80

SO1CB27

SO1CG67

SO1CG68
SO1CG90

SO1CG36

SO1CG91
SO1CG90

SO1CG35

SO1CG36

SO1CG75 10

SO1CG90

SO1CG80

SO1CB17

SO1CG80

SO1CG38

SO1CG59

SO1CG90SO1CG91

SO1CG35
SO1CG36

SO1CG90
SO1CG91

SO1CG36

SO1CD4

SO1CI11
SO1CI14

SO1CI15
SO1CI16

SO1CI11SO1CI14

SO1CI16

SO1CI11

SO1CI16

SO1CI11 SO1CI14

SO1CI16

SO1CB17

SO1CG80

SO1CG38

SO1CB17

SO1CI18

SO1CG85

SO1CD16

SO1CF_8

10SO1CI15

SO1CI15

SO1CG90

SO1CG36 SO1CG35

SO1CG91
SO1CG90

SO1CG36

SO1CG35

SO1CG91

SO1CG35

SO1CG36

SO1CG90

SO1CG91

SO1CG36

SO1CG90

10

SO1CD16

AXIS 11-15

1:50

DETAIL A

F F

E E

SO1CG98

SO1CG64

SO1CI23

SO1CI3

SO1CG88

SO1CG30

SO1CI6

SO1CI4
SO1CI3SO1CI6

SO1CI4

SO1CG32

SO1CI3

SO1CI4 SO1CI5

SO1CI6SO1CI3

SO1CI2

SO1CB15

SO1CI14

SO1CI11SO1CI14

SO1CI16

SO1CI11

SO1CI14

SO1CI16

SO1CI11

SO1CI16
SO1CI14

SO1CI11

SO1CI19

SO1CB17

SO1CI11SO1CI17

SO1CI11 SO1CI12SO1CI17

SO1CI16

SO1CI11
SO1CI17

SO1CI16

SO1CI11

SO1CI14

SO1CI16

SO1CI11

SO1CB17

SO1CI3

SO1CI4

SO1CI3
SO1CI6

SO1CI5

SO1CI6

SO1CI4

10
SO1CJ1

SO1CI5

10
SO1CG89

SO1CG30

SO1CJ1

SO1CG88SO1CG89

SO1CG32

SO1CG33

SO1CB16

SO1CI5

SO1CF_15

SO1CI5

10 SO1CI10

SO1CI8

SO1CI15

SO1CF_6

SO1CI13

SO1CI15

SO1CI15

SO1CI15 10
SO1CF_10

SO1CI15

SO1CI21SO1CI15SO1CI15

SO1CG90

SO1CG36

SO1CD3

SO1CG31

SO1CG88

SO1CG89

SO1CG89

SO1CG32

SO1CG88

SO1CG32
SO1CG30

SO1CD6

SO1CG32

SO1CG30

SO1CG89

SO1CG88

SO1CG90

SO1CG61

10 SO1CG80

SO1CB17

SO1CG37

SO1CG34

SO1CG89

SO1CG91
SO1CG90

SO1CG91

SO1CG35
SO1CG36

SO1CG87

SO1CG91

SO1CG90

SO1CG62

SO1CG63

SO1CG91

SO1CG90SO1CG35

SO1CG36SO1CG91

SO1CG35

10
SO1CG35

SO1CG59

SO1CB17

SO1CG80

SO1CG80

SO1CG90

SO1CG91

SO1CG35
SO1CG65

SO1CG90SO1CG91

SO1CG36

SO1CG35
SO1CG90

SO1CG91

SO1CG36

SO1CG90

SO1CG36

SO1CG35

SO1CG74

SO1CD14

SO1CB17

SO1CI11

SO1CI16

SO1CI14SO1CI11

SO1CI15

SO1CI14

SO1CI16

SO1CI11
SO1CI14

SO1CI16

SO1CI11

SO1CI14
SO1CI16

SO1CI11
SO1CI15

SO1CG96

SO1CG80

SO1CI19

SO1CB17

SO1CI15

10

SO1CI15

SO1CF_8

SO1CI18

10

SO1CG85

SO1CG80

SO1CG59

SO1CG93

SO1CB17

SO1CG76

SO1CG91

SO1CG35

10

SO1CG91
SO1CG90

SO1CG35

SO1CG90SO1CG91

SO1CG36

SO1CG90

SO1CG36

SO1CG35

SO1CG90

SO1CG36

SO1CG91

SO1CG90 SO1CG35

SO1CG36

10

SO1CG80

SO1CB17

SO1CG38

12000

A - A
1:50

1200012000

SO1CB21

SO1CB1

SO1CB12

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

SO1CB9

SO1CB21

SO1CB13

SO1CB13

SO1CB6

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

G

G
+13,260

H

H

SO1CB13

SO1CB1

SO1CB9

SO1CB21

SO1CB6

SO1CB13

12000

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

SO1CB9

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

12000

SO1CB9

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

I

I
SO1CB21

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB9

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

SO1CJ2

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB12

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

SO1CB10

8 * M30*130

400 330

75
0

+13,260

+14,010

B - B
1:50

+13,236

SO1CI11

SO1CI16

SO1CI5

SO1CI6

SO1CI3SO1CI4

24

SO1CG74

SO1CG80

SO1CI14

SO1CI15
SO1CG76

SO1CG80

SO1CG96

+13,260

SO1CI15

SO1CG80

SO1CG85

24

DETAIL C

+13,260 +13,236

SO1CG80

SO1CI11

SO1CI16

SO1CI14

SO1CI11

SO1CI15

SO1CG80

SO1CG80

SO1CG86

C - C
1:50

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

120001200012000

SO1CB9

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

+13,260

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

SO1CB12

SO1CB21

SO1CB9

SO1CB21

SO1CB1

SO1CB13

SO1CB13

SO1CB6

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

SO1CB21

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB9

12000

J

J

SO1CB25

SO1CB26

SO1CB23

SO1CB26

SO1CB3

SO1CB24

SO1CB21

SO1CB8

SO1CB18

SO1CB18

SO1CB21

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB12

SO1CB7

12000

+13,260

SO1CB21

SO1CB1

SO1CB13

SO1CB13

SO1CB6

SO1CB9

SO1CB21
SO1CB21

SO1CB1

SO1CB13

SO1CB13

SO1CB6

SO1CB12

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

SO1CB9

D - D
1:50

+13,260

SO1CG80

SO1CG85

24

SO1CI14

SO1CI15

SO1CG80SO1CG80

+13,236

SO1CI15
SO1CI11

SO1CI16

SO1CG85

SO1CG80

SO1CG75

SO1CI28

SO1CG80

SO1CG77

SO1CG85

24

+13,236
+13,260

SO1CI11

SO1CI16
SO1CI14

SO1CI15

SO1CG80

SO1CG80
SO1CG80

11000

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

E - E
1:50

14000

75
0

300

SO1CJ1

SO1CB21

SO1CB6

SO1CB13

SO1CB1

SO1CB12

SO1CB10

SO1CB13

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

400

+14,010

+13,260

SO1CB21

SO1CB1

SO1CB13

SO1CB13

SO1CB6

SO1CB9

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

12000

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB9

12000

SO1CB21

SO1CB9

SO1CB13

SO1CB6

SO1CB13

SO1CB1

SO1CB21

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

+13,260

SO1CB21

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB9

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

F - F
1:50

24

+13,260

SO1CI16SO1CI17

SO1CG87

SO1CI15

SO1CG80

+13,236

SO1CG80

SO1CI15

SO1CI11

SO1CG80

SO1CG74

SO1CG80

SO1CG80

SO1CG76

24

+13,236 +13,260

SO1CG80

SO1CI11

SO1CI15

SO1CI14

SO1CI16

SO1CI15

SO1CI11

SO1CG85

SO1CG88

SO1CD17

G - G
1:30

1000

2 * M20*70

2 * M16*55

2 * M16*55

2 * M16*55

2 * M16*55

2 * M20*70

1 * M24*100

1 * M24*100

CLIP 3124/15CLIP 3124/15

RAIL A100

+13,260

KK
SO1CI6

SO1CF_17

10
5

13
00

480 660 200 660 480
1000 1000 1000

390 705 200 705 390

15
50

2 * M16*55

2 * M16*55

2 * M16*55

2 * M16*55

+13,260

LL
SO1CI11

SO1CG74

SO1CF_10

SO1CG90

SO1CD14

H - H
1:30

SO1CB21

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB9

SO1CD16

I - I
1:30

MM

4*WASHER M36 DIN 125a

8*NUT M36 DIN 934

2 * M24*120

1*THREAADED ROD M36

SO1CB13

SO1CB12

SO1CB7

SO1CB14

SO1CB5

SO1CB14

SO1CB2

SO1CF_8

550 725 725 550

700 600 700
1000 1000

+13,260

4*WASHER M36 DIN 125a

8*NUT M36 DIN 934

2 * M24*120

1*THREAADED ROD M36

1010 +11,880

SO1CB17

SO1CB2

SO1CB14

SO1CB5

SO1CB14

SO1CB7

SO1CB12

SO1CB17

SO1CB21

SO1CB13

SO1CB6

SO1CB1

SO1CB9

SO1CB8

SO1CD4

J - J
1:30

NN

+13,260

4*WASHER M36 DIN 125a

8*NUT M36 DIN 934

1*THREAADED ROD M36

SO1CB18

SO1CB18

SO1CB24

SO1CB25

SO1CB26

SO1CB23

SO1CB26

SO1CB3

SO1CF_2

SO1CB18

SO1CB18

SO1CB21

SO1CB24

SO1CB25

SO1CB26

SO1CB23

SO1CB26

SO1CB3

600 700
1000 1000

DILATATION

+11,880

1010

4*WASHER M36 DIN 125a

8*NUT M36 DIN 934

1*THREAADED ROD M36

SO1CG97
SO1CG94

SO1CB27

SO1CB21

SO1CB28

SO1CB8

350 415

700

35
0

PLACES OF THE REBARS

SO1CG98

SO1CI28

SO1CG77

Detail B

1:30

PHA1

PHA3

SO1CG97

41
5

PHA1

PHA1

SO1CG94

SO1CG67

SO1CI20

SO1CG66

SO1CG75

660

2 * M20*70

2 * M16*55

2 * M20*280

2 * M16*55

2 * M16*55

2 * M20*70

SO1CG89

SO1CG30

SO1CI3

SO1CG88

SO1CG32

K - K
1:30

2 * M20*70

SO1CI6

SO1CI5

480 660 200

2 * M20*280

2 * M16*55

2 * M20*70

SO1CI4

480 705

2 * M20*65

2 * M16*55
2 * M16*55

2 * M20*65

2 * M20*65

2 * M16*55

2 * M20*280

2 * M16*55

2 * M16*55

SO1CG36

SO1CI14

SO1CG35

SO1CG90

SO1CI11

SO1CG74

L - L
1:30

2 * M16*55

2 * M16*55

SO1CI16

390 705 200

2 * M20*280

2 * M20*65

2 * M16*55

SO1CG91

SO1CI15

390

35
0

PLACES OF THE REBARS

PHA1

SO1CG96

SO1CG64

SO1CG76

SO1CI23

Detail A

1:30

PHA3

PHA1

SO1CI21

PHA1

SO1CG65

SO1CG98

SO1CG74

41
5

SO1CG93

SO1CB4

M - M
1:30

4*WASHER M36 DIN 125a

4*WASHER M36 DIN 125a

8*NUT M36 DIN 934

8*NUT M36 DIN 934

10

SO1CB4

SO1CB6

SO1CB13

SO1CB13

SO1CB1

SO1CB4

SO1CB4

44
0

22
0

22
0

35

SO1CB4

N - N
1:30

35

28
0

22
0

50
0

10

DILATATION

SO1CB4

SO1CB18
SO1CB18

26
4 * M20*90

SO1CG80

SO1CG73

SO1CG81

SO1CG81

SO1CG83

SO1CG83

SO1CG83

SO1CG86

Detail C

1:10


	Sheets and Views
	Model


